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Movement for Nom case
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Attracting T and subject for wh move
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Attracting Object for wh
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Adjunct wh

Movement and Binding

e Condition A

— A reflexive must have an antecedent that:
e C-commands the reflexive
* Is in the same minimal biding domain as the reflexive

e Condition B
— A pronoun must have an antecedent that:

* Does not C-command the pronoun, and/or

* Is not in the same minimal binding domain as the
pronoun
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Does movement impact binding?

— Which pictures of himself; does John;, like?

* The above is grammatical
— Is condition A satisfied at Surface structure?
— Is condition A satisfied at Deep structure?

Wh-movement and Binding
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Movement and ambiguity

* When will John say that Susan will arrive?

* A Wh-adjunct can more than one origin point
since it is unconstrained by Theta role/case
assignment

Adjunct movement
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